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MAT 3749 2.1 Part 3 Team Homework
Names: ______________________________________________________________

1. (5 points) Use the 
[image: image1.wmf]ed

-

 definition to prove the following result.
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, for some deleted neighborhood of a, then
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2. (a) (3 points) Use the 
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 definition to prove that if 
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(b) (3 points) Use the Squeeze Theorem and part (a) to prove the statement in problem 1: 
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(You are not supposed to use the 
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3. (a) (2 points) Mimic the definition of 
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(b) (2 points) Mimic the definition of 
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4. (3 points)   Let 
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 is  a constant function).  Use the 
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 definition to prove that
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 Definition A function 
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such that 
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5. (6 points) Let 
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.  Suppose 
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6. (8 points) Let 
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